{

MH-118

May-2018

Seat No. :

M.Com., Sem.-11

109219

410 EA/EE : Financial Accounting & Auditing — I

Time : 3 Hours]

|[Max. Marks : 70

L (a) s Su-Al-l Betell 23] sk Bua 2 500,000 ecll. AR R wscz B

Al AHELU U] $ell :

(i) 500 A3, % ¥ €35l usek BHc T 100D 247 A AR I Dsnels T 1800
Bud Qi 8. Gewis-ui winll ¢l 38 QA sRA A oiul & A, st
ARAUAL ARt 4esTell, Al ArH4 Azt B3l 50% eid Az Bt Atel.
sHEls QAL W] 7 10 23,

(i) 100 2AsH), 3 & e35l wscr Bud 7 120 6. @r\us-nu VR Sl 581 AR
HIRAHL AL AHERSH 2 Asdls T 30 vl 2 47 A 2l A WS el

* WA T 500 wl. st a4zl vy welell A ol o A5, Asls T 160

(B Qa1

Gur-l ¢ Rotdll vt el el AS2 WAIEL SrA-2R1 Heu 3l id MSA 9
(b) UBR AN AEIA USIL YR S2eAL AN AN Ry AS12 WL, 3l fld

LA A1) a Aol

44l

(@) D duell RBRs AR &) 2 B :
(i) dL 31-3-200 740 A R ad 4l 1R, s Gel-u el el 2R loy={l YRR :

Gesl- - Gl gl el il | A-lsu R) | auer ()
12% ols dl- 1-6-2015 50 @ 6 @
10% RA=R 1-8-2016 30 @ivt 2 drvt
15% 23 el 1-10-2016 20 @ 1.5 vt
(i) " [AEw Fesdly v Gulsd Gl ltlel Ali-l GudL s3] 211l ;

Reasdl | Q) UMY

Gle-1 | 40 | 8 uRAL

z-2 | 30t | 12 AL

Gle2-3 | 10at | 6 1RAL

Gosl1 cllhel At euld AR SR 24 oyl s sl R34l 1gtadl 631,
(b) - AS9-LE53U 1021 14 AMAL 44 A RN 531,

AH-118




1

D [RIFRS SN e, 312320174 Aoy 11 et 4t HRA s s AR o1 B : 14

R T L4 L 4
Avvi qual 20.00,000
lE : AL YsaR 600,000
8130 AR 14.00.000
GAA: ey A5 :
ABR YA HAA Vs ALY 70,000
HAG @Y (URAAA SEWA T 10,000) | 40,000
Uttt QAL YA S\ 2,50,000
(A B4d 2 4,00,000 olie AsBet 1R
% 1.50,000)
AR M e 20,000( - 3.80,000
§a a8 17,80,000
Ol : v : ‘
Rel-=u euter 40,000
Ala] wall 31.000
Al JRARDA §14 25,000
(811 4elR 243 40,000
R4z 921 il ced 10,000
HUIR : 2.10,000
Aot RRs23A) waIR 1,80,000] '
AN 2 Qs vl . 1.80,000
s A . 60,000
R WIR . o 1,75.000
RRs2-l 4 | 50,000
AR 24 A5 1,60,000
195321 st 70.000
ENEDA AR | 25,000
RAA=R ol R Wisal-AL vl Hidl du . 18,000
glHRR-1 QL s 30,000
Relr2zAL 232100 33t 15,000
ols @l 452U 14,000
RALLSN AU 52U 35.000
YR RAs-s . 50,000
SHURRAA ARBRL Ysasll 20,000
L C A sa vl 14,38,000
Al A8\ | 342,000

MH-118 - 2



QR HRAL : .

(1) EMDHRL Yo HOEE SRR T 1,80,000 B.

(2)  Elev A UM Hisl udie elervie ¥ 20,000 8.

(3) 22157 YEAGU WIURHI T 40,000 Rt <AL 8.

(4)  dNuA A [Qs 11 vl AL RIELALT 1,35,000-4) UHIRRL 2 S.

(5) UAURSH BiA qcll—ﬂsw-u i, s QuR) 5L iRl T 1,05,000-1 3HAU
Y B,

6) AAat 52 tRL eliel Bad T 70,000 ¢dl.

() B gt sulAL 9ot RR523 8. Al WRA T 15,0004 WIR A Al WIR ddl

st GUE Ul UREAL AL 1% QW s AN $85ER B,

sul wiRt 2013 Waudl, AL RR%23A ayi a4y 32 Heardg] 4l usi a-ll aiadl

R 541 8.
YAl _
gull WIRL 201 34U YRR 111 3ot DAL HERIR Yelol AN :
() Brasdd e Fiasd ol qofsel s34 s 1edq et agd WA ¢ 4

(2)  vaelsRIRA e vUnsRIPA B allsul sl Hi2 s HIMES e ud SR T 3
(3) sl AU Biug As1e0 exiladl 24681 wail qa[[sau 2 d 2 Rl

QR avgual. 4
(4) Wt AL e, A5 satlaat 249 wqﬂ el 2 A 28 WRA Rotctar
oy Quell. . 3

3. A5 Sl Wl e, YR 591 UL, e YR YR S, aesiA A wisll, wesEls T 5ol
Ba 210 B, w3 M 2es A W As HRA 26 Wt 8 dl, A wdls T 40 i
2R AR B, Rutotdl I 12 A 24Q, 18l WA daut €12 G-t WAL vt o
225 Heise, Wilels T 250l Bad sl 211 6 WRg At Wil d-L vidle Baa 2 30 @0

AR et 85, _ 14
ql 31-3-201 701 YR1 Actl 4 HE2 AR Q1 HA S :
(1) dL 1-4-2016-1L Aoy YAl vl : 3
WS 7.000 b
SIUBYWR 4,000
(2) b 31-3-201 71 oy W=l vl :
weHAWA 8,000
S GwR 10,000
P.T.O.

w

MH-118



(3) aderu:

(el st wile vl v 1800
o3 A0 dlBlen wisl-{l vl 200
AR Hsdat -l vl 10,000
A1eAIA urel SRl AL vl 1000

()  CRURAL 51EL AL WI=l-AL T 1,000 Guardl el
(5)  UeAIA Rl sRell -4 AR5 21 wR{ T 20,000 Y5Aet 6.
R WL AUR it 2R UL A it AR SR 6.
' 2yl
Gua-l (o1l wrell wiall 2215 vitd 1A ul-.ﬂrj, QYR wiIg AU &L

4. A5 R A Baud Bur 25% 3 U eist widle weRedl Hla-i QRUEL R 8. Al
MRl w2l vl [Fatdl 20l 247 AR 53 : | 14
(1) g5t 2As vitg
) Qe AT ude et il
(3) Qe ade wig A<T HAQ $ei] viid
(4 GUSLMRIE QUR il

L4

dl, 1-4-2016+1L oy-{] opig) :

E51HI 228 (User Bua) 50,000

Al ©Ae YR AR Halet et 25,000
o] ERUAA SR ¢

WA RN AN Ass 2,00,000

9y 6331 viFlel 2,50,000

WRet elliet e (eusl €ell T 15,000) 5,000
dl. 31-3-201 7-{l Aol euis) : '

. BSIHLR2TS (seR Bua) 60,000
QAR UAE Y3 AR MG ¢l 35,000
AR AR udet ¢t . 1,35.000
LLUCTIE

(3)  CUSMSIAL MSIR MM,
T (b)) ASUUARIE A PSS! A gl e 53,

MH-118 4



5. orgdlaeiadlaA sall 2uu Rseu- wigall 53 : 14

(1)

(3)

(4)

MH-118

dl. 1-4-20131 oy A5 SuAlA T 200 @rviL Al vidlean (3 -4 Gualdall By
10 < 8.) MR AR 52l T 50 atviqdl A2 Hell B, ¥ Fretsd-l saR vid ot
il 24l 8. 40 BuwR uadll vl sl wel@ W lls 10% AW wR
QA A1 B, 235 Wl et A U sRE At 20163 Su-lA 240 iyl
Al-2 WERA Wl 53 Bl wdl 8.

AS 12 341, UalleAL AR iR B Seell ¢ ¢
(@ T 119.35 & (b)) T159.35@v
(c) ¥ 185.80 vt @) Gur-rie] NsugL AR

Ag SuAl QBERS X, Y 247 Z D3 21 sl daiail-Al vivil 63 8. o AQ el As
ARl Aell iy Asellonl 2R L AL dt. 31-3-201 7L Aor dnedl AldeiRis

YsetR Batet arl Guoral uRe e IR uHgl §

adq | AReRS UsR (7) | BuoraluiRa yeu )
X 2,00,000 1.80,000
Y 1,50,000 1.70,000
Z ' 3.50,000 4,50,000
& 7,00,000 : 8,00,000
W51 ARAUIAL 8¢ Hi2 A2l el Heu Al :
(8) 2 7.00,000 ' (b) 2 8,00,000 ‘
() 26,80,000 (d)  Gumiell AsveL AR

QL 23t 28] MR AR g5t WAL Av2uL U5 5000 24R 6000 eedl. @
g2l viFlet ol 243 AR WisAei il 2iv4L 24480 17000 243 15000 el
Y g3l USSR YRt S WAL A AL 0v{l R vl vt 2445 2000
24 5000 &cll. < 633414 GidURAMI 5181 ArAEL Uil 0v2411000 &L,

el iR B WA AR gL RN vl 2453 Sl MSA :
(a) 13000 24 9000 o (b) . 1000 44 11000
(c) 18000 24 17000 (d) Gunill Asug AR

useR Bud BuR 50% A5l w2idlA o} vidle weell aetlA e Auari A4 8.
-l ugitcal, gaitul Miell Bud o} vidls B T 1,50,000 cll 247 <t 2id
st el Bad usek BuA 2 1,70,000 sl < €334 T 4,00,000-1 Bl
WA WlELRA 2l 8, WeElA A el Bud adl da : |

(@) ¥ 3,30,000 (b) ¥ 4,40,000 ,
() T 4,95,000 () Guuidl ﬂ.wu AR

e



(5) s Su-llai As Adogar Bs22 et 244 wid 208 RRs22 Az U B. &Yl 2y

(6)

(7)

MH-118 .

(a1l A1 yored v S :

153Ul MU et AL WAl ot wRedi) W, 4R 1y
WHREHAL UG WS D R 2 79 vy B,

Su-AuRL v ol eIl Moesd 7 30 e B,
0 6341 Ul AHURE Y HD-A) el T 3 o 63,
2 6341 UsAl YHRE AL 2 viRR 2 W 7 2 ey 8.

Aegat BRs2 et -2 w1 21 (522 Ysell sy agqgm LY ML) AN :

(8  ¥2,50,000 244 2 50,000 (b) ¥8,00,000 2432 2,40,000
(©) X4.00000242 120,000  (d) 74.00000 2022 80,000
AR SR AR 2w B -

(8) MR MAUMIA W + Neuet Hogfl Wal + pceipy iz
(b)  Herd Moyl vzl + Ueypt wiayf

(@) Hedet Mol wial + ucurt vial + Geute Ridtud) v
(d)  Meurt Mol vl + ueust viail + Geyign RRMA W + adledl Rigedl W +

Qe RRMA iz
53423 NLAUR, UL vist WQupnii 2 WA gl : .
vy allls Y21 2l - R21-Qz1 3 fs
() By Feasd R Bresd) e Rlasd)
(b) [Brtwe Bresdl RR Bieisei) e Pl
(©) [Briug Biesd U [Gug Riesd) -

(d)  Guauidll Mgy 4R -




Seat No. :

MH-118

May-2018
M.Com., Sem.-1I
410 EA/EE : Financial Accounting & Auditing — I
Time : 3 Hours| [Max. Marks : 70

l.. (a) The closing inventory at cost, of a company amounted to ¥ 5,00,000. The

following items were included at cost in the total : 7

(i) 500 units which had a cost of ¥ 100 each and normally sold for T 180 each.
Owing to defect in manufacture, they were all sold afier-the balance shéet
date, at 50% of their normal selling price. Selling expenses amounted to
T 10 per unit.

(ii) 100 units which had a cost of 120 each. As they were defective remedial
work in April costs T 30 per unit and selling expenses for the batch totalled
T 500. They were sold for T 160 each after the balance sheet date.

What should be the value of inventory as per AS2, after considering above two

items ?
(b) Explain the accounting for Refund of Govt. Grants as per AS12. ° 7
OR
(a) A company limited provides the following information : 7
(i) Total borrowings and interest cost for the year ending on 31-3-2017 :
Borrowings Date of Borrowings | Loan¥ | Interest?
12% Bank loan 1-6-2015 50 lakhs 6 lakhs
10% Debentures 1-8-2016 “ | 30 lakhs 2 lakhs
| 5% Term loan 1-10-2016 20 lakhs | 1.5 lakhs
(i1) - Qualifying assets in which these borrowed thnds are utilized :
Asscts L4 Period )
Plant | 40 lakhs 8 months
Plant 2 30 lakhs 12 months
Plant 3 10 lakhs 6 months

Compute weighted average cost of borrowing and interest cost to be capitalized.

(b) Explain and analyse the paragraphs 10 to 14 of AS9. 7
7 P.T.O.
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2. The following is a Income Statement prepared by a Co. Ltd. for the year ending on

31-3-2017:
Particulars 4 4 \
Net Sales 20,00,000
Less : Cost of sales 6.00.000
Gross Profit 14,00,000
Add : Other Incomes .
Subsidy received from Gowt. 70.000
[nterest Received (T.D.S. ¥ 10.000) 40,000
Profit on sale of Machinery 2,50,000
(Cost price T 4,00,000 — Accumulated
Depreciation ¥ 1,50,000)
Sccuritics Premium Received 20,000 [ 3,80,000
Total Income 17,580,000
Less : Expenses
i Interest on Debentures - 40,000
Administration Expenses 31,000
Donations to charitable institutions 25,000
Development Rebate Reserve 40,000
Discount on debentures written off 10,000
Depreciation 2,10,000
Managing Director’s Salary 1,80,000
Research & Development Expenses 1,80,000
Bonus to Employees 60,000
Salary to Staft” 1,75,000
Director’s Fees 50,000
Repairs & Renewals 1.60,000
Provision for Income tax 70,000
Bad Debt Reserve 25,000
Debenture issue expenses written off 18,000
Loss on sale of furniture 30,000
Remuneration to trustees of Debentures 15,000
Loss of bank loan 14,000
Loss on sale of investments 35,000
Proposed Dividend 50,000
Exgratia payments to employees 20,000
Total Expenscs 14,38,000
Net Profit 3,42,000
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Additional Informations :

(N
(2)
(3)
(4)

(5)
(6)
)

As per Companies Act, allowable depreciation is X 1.80.000.

Bad debt written off against bad debt reserve is ¥ 20.000.

Salary to staff includes ¥ 40.000 paid for the last year.

Research and development expenses includes purchase of instruments of
T 1,35,000.

Repair and renewal expenses includes ¥ 1.05.000 for the extension of building.
Depreciated value of furniture sold was 3 70.000.

Mr. X is the managing director of the company and he is entitled for a salary of
% 15,000 p.m. plus commission of 1% on the net profit, before charging such

commission and salary.

You are required to calculatec maximum remuneration that can be paid under Co. Act

2013. to the managing director.

OR

Answer the fbllowing,s. to the point. as per Co. Act 2013 Schedule 111 :

(1
2)
3)

4)

Which are the criterias to be fulfilled, to classify an assct as current asset.
Which are the criterias to be fulfilled, to classify a liability as current liability.
Narrate the detail classification and information to be given for Non-current

investments in Balance Sheet.
Narrate in detail classification and information to be given for current investment

in Balance Sheet.

3. A company supplies iis product in retumable containers. A container is invoiced to

customer at ¥ 50

each, but if it is returned within a month, a credit of T 40 is given to

customer. For accounting purpdscs at closing all stocks with customers and in hand, are
valued at 2 25 each except those representing new ones, which are valued at their

purchase price of ¥ 30.
The following particulars are available for the year ended on 31-3-2017 :

(1) Ason 1-4-2016 number of containers with :

Customers 7.000
On Hand 4,000

(2) Ason 31-3-2017 number of containers with :
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(3) During the year:
Number of containers destroyed by fire

Number of containers sold as scrap

Number of containers sent to customers

Number of containers retuned by customers
(4) Scraped containers realized ¥ 1,000

(3)
paid.

1800
200
10,000
1000

On the containers returned by customers, repairing expenses of ¥ 20,000 were

You are required to prepare containers Trading A/c. and Containers Provision Ale,

OR

From above information prepare containers Stock A/c. and Containers Trading Alc,

4. A trader sells goods on Hire Purchase, at cost plus 25% profit. From the following

information calculate missing figures and prepare :
(1) Shop Stock A/c.

(2) Installment not due A/c.

(3). Installment due but not received A/c.

(4) Hire Purchase Trading A/c.

Balances as on 1-4-2016 : .
Stock in the shop (at cost price)
| Installment due but not received | .
Transactions during the yéar :
Cash received from customers
Purchases during the year
Goods repossessed (installments due 7 15.006)
Balances as on 31-3-2017 :
Stock in shop (at cost price)
Instaliment due but not received
Installment not dye
OR
(a) Explain the types of Lease,

(b) Differentiate Hire Purchase ang Lepse -

MH-118 ‘
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50,000
25,000

2,00,000
2,50,000
5,000

60,000
35,000
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5.  Show necessary calculations and select correct alternative : 14
(1) On 1-4-2013 a company has received Govt. grant of ¥ 50 lakhs, for acquisition of
a machinery (having an expected life of 10 years) costing ¥ 200 lakhs, which was
credited to the cost of the asset. The machinery is depreciated at 10% p.a. on
W.D.V. basis. The company had to return the entire grant to the Govt. in April
2016, due to non-compliance of certain conditions.
Revised book value of machinery as per AS 12, is
(a) T 119.35 lakhs (b) T 159.35 lakhs
(c) T 185.80lakhs (d) None of above
(2) A company limited deals in three products viz. X, Y and Z which are neither
' similar not interchangeable. On 31-3-2017 their historic cost and realizable value
are as under : ; | '
Product | Historic Cost? | Realisable Value Y
X - 2,00,000 1,80,000
Y 1,50,000 1,70,000
Z 3,50,000 4,50,000
Total 7,00,000 £,00,000
" For the purpose of balance sheet, total value of inventory is.
(a) T7,00000 - , (b) ¥ 8,00,000
(©) % 6,80,000 (d) None of above
(3) In the beginning of the year, containers with customers and in shop were
respectively 5000 and 6000. During the year, containers purchased and send to
customers were respectively 17000 and 15000. During the year retuned and
retained containers by customers were 2000 and 5000 respectively. During the
year containers scrapped were 1000,
At the end of the year, number of containers with customers and in shop.
respectively should have been : ' - |
(a) 13000&9000 . (b) 1000 & 11000
(c) 18000 & 17000 (d) Noneof above
(4) Goods are sold to customers on Hire purchase, by adding 50% profit on cost,
opening balance of stock in shop was ¥ 1.50,000 at hire purchase price and
closing balance of stock in shop was ¥ 1,70,000 at cost. Goods purchased during
the year were of ¥ 4,00,000, Selling price of the goods sold to customers should
have been :
(a) ¥3,30,000 ' (b) T 4,40,000 ‘
(c) T4,95000 ° (d) Noneofabove
11 P.T.O.
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(5) In a company, one managing dircctor and other part time directors are providing

s. Company provides other details as under :

service
x and managerial remuneration but after

Net profit before provision of income ta
ciation and provision for repairs is 7 79 lakhs.

vided in the books as per Co. Act T 30 lakhs
Repairs of machinery provided for, during the year ¥ 3 lakhs

Actual expenditure incurred on repairs during the year T 2 lakhs .
able to managing director and other part time

providing depre
Depreciation pro

Maximum remuncration pay

directors respectively is
(a) T2.50,000& T 50,000 (b)y < 8,00,000 & T 2,40,000

(c) ¥4,00,000&% 1,20,000 (d) % 4.00,000 & ¥ 80,000

(6) Cost of conversion is consisted of
(a) Direct material cost + Direct labour cost + Direct ex

(b) Direct labour cost + Direct expenses
st + Direct expenses + Production overheads
roduction overheads +

penses

(c) Direct labour co
(d) Direct labour cost + Direct expenses + P

Administration overheads + Seliing overheads

in company balance sheet as under :

(7) Computer soﬁwaw will be shown
. Sub-subhead

Main Head Sub-Head

(a) Non-current Asset Fixed Assets Tangible Asset

(b) Non-current Asset. Fixed Assets Intangible Asset

(¢) Non-currcnt Asset Other rgon-c'urrem assets

(d) Noneofabove
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